Efficiency vs Dxy(PV)

E 0.5
0.4
3
o O.
>
30.3
T
5 0
=
©0.2
0
0.1!
0
0.0! | ‘ |
l
o 10 (i3 \I1‘|“. A
2 ‘
o 111 ‘ ‘\
I [ L
! |
il
0. sl L
=20 - 15 20
TP dxy(PV) (cm)
—=— DQM_original_step2_ttbar-phasel-newgeom
—— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
| Efficienc] —— DQM_fast_step2_ttbar-phasel-newgeom

efficiency vs dxy(PV)

=30 -20 -10 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o

efficiency vs dz(PV)

Ak

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


